Ex Lol [ boc, +ax, di, )
el k b+a a bra
e =

Ql ("3, LI) /5-,“’ ) 4 -/ ‘//n)Le/‘nﬂ/\//U/]

/1&3)+ 4(8) L, 1) +4(—4)\

Ifl, ] +4

/—3*20 4—/6\

SN

(12 -2

(7 %)

@2 (" g, 8') (‘3"’7) S - //ﬂ ‘Lefnq//q)
e % v

[1E5)  3(3) , 18)r 4¢5))

i3 Iv-3

L
(——5’+2 . #-32\
Z

47y

[ 4 -\

N4 " 4a)

(1,-4)

@3 (2, -3) (4.6) 52 (Extendy)

(20~ 56 2t -56))

2-5 i RS
[4-20 , -6-30
i =3 =3
o /16 - 36)
e Ml
[ 12
S




Qy  (5.0) (1,-2) Bl
|~ LS = b

hterady — [(a6) ¢ ) 2@ +3£2))
R 23 \2+3 i
B Lty 42 o -&6
s 5 )
13 ,-»’77L5 —
5 5
Fxtewaly — [265) ~30)  20)-5¢%))
B 3 =1 23 &
i (16 =3 , O +6)
| (= 57
| /,; -6\ B
LY / 574
__|@s (2.3) (6 %) 3.1
- > s
hternully (18 +365) , 16+ 3(9))
l+72 /1+3
/2 415 2 ga .
( 4 ! :
| [12 &)
| (% © ./
T Exfam/é/ _ /’ICK)— 3(5 . 13) — 3(?)\
| \~71-% '~ =3

[T




’Cgé ("2, "’) (3,/-1) 42 'procﬁwezl o =D exfe,wg_i
/iE2) - 4(3)  1ED ~ )

- -4 ) , B
R T TR -
-3 =/
A EANE
(5 < B, B -
@z -
#23) 8(x, ) (.-3) buy) 24 >6)
e 7 & /
0 1) + 269) | 1D+ 7)) 1)
iy QRS 4
e T fadoe = f - v=iilyc |
/ W b4 =¥ | - 3 -
‘9_,"5 5’3' _ Aa = if -3 +2Vy;
;&m,-r_ doc = 1€ 2y =
I o =& =3
- [%3)
=2

Qs -6 q\ A (-io7) B(%- 5)// |3

2 s 36916, 3(3) u/—s)
g E / $+l
o] - 3o+x -6 ,.u s _ &
"»/ G ' =6 // 4 | 4
s yz4  J _Borsc=-24 | =Y B
(F10%) J 7/ e g . | =l

X6 and Y=H|
" J




fﬁ@/o_k,z /(2 7 #[A; 40) Ak 5(2-2)
i ’ /2,-2) ﬁﬁ@,) +Aéz) ifa 3)+h(0)> }( H%?)

)’+/, k+h

il o B e

L : // — _3 ,17 . oy
— S— LS VQH"Z‘A—;: e J—Z
gD | kA wrh

|  4k-2h= 2K -3k =2k Ug
e I B _2';{":— 2‘5 e = =2

k=24




